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@ 33 +x2—x=x(3x2 +x-1)
@ -x*+25=(5+x)(5-x)

@ x> +8x+12=(x+2)(x+6)
@ 36x% + 24xy + 4y? = (6x — 2y)?

® 6x2+5x+1=(2x+1)(3x+1)



3. T A2 -4x4+312x2-3x-9 9 FEQ A4E?

D 2x+3 @ 2x+1 ® x-1
@ x-5 ® x-3



D 2x+8 @ 2x+2 ® 2x+1

@ 2x-6 ® 2x-8
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6. QFES} x+y=231, x—y=11 Y2 0|83t (x2 —4x+4) -
(v =2y + 1) 9] Ft& otofzt,

D L
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7. 2x3-8xy? & QAFE&|5tA?

@O x(x+2y)(x—2y) @ 2x(x+2y)(x—2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)



@ (x+1)(x+2)

@ (x+1)(x-2)
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@) (x—y+3)2 ® (x+y—3)2

® (x+y—i—4)2

D (x+y+3)?

@ (x-y-3)°



@ m+n-1 Q@ m-n+2

@O m+n-2

® m-n

@ m-n+1



12, £ 4 ax-ay - be + by A5 BaloHA?

@ (x-y)(a-b) @ (x-y)(a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)



13. o= A X+ (-2y+3)x—(3y-1)(y+2) & Uslisto] v LA4e
A= EfshH?

D 2x-2y+3 @ 2x-2y+1 @ 2x-3y+3

@ 2x-y+3 ® x-2y+3
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D V2 @ 3 3 242 @ 32 ® 42
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D 43 @ -843
@ -5+3 ® 53

oo, 42—y o] ghe FohE?

® 3V3



16. a=2v2-4, b =3+ V2 W, a® - dab + 41> 9] FL-& Fstoi2h
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17. xy=50°]a, X2y + xy? + 2(x+y) =42 & o], x% +y? 9] 327

® 10 @ 15 ® 20 @ 26 ® 28



18. Ha F 2%y -y - x? +xy & AFE?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y



